














































































Errata

Norbert Marwan and Jürgen Kurths:
Cross Recurrence Plots And Their Applications
Mathematical Physics Research at the Cutting Edge, Nova Schience Publishers 2004, pp. 101–139

page 107, paragraph and equations (5) and (6)

In a more general sense the line structures in an RP exhibit locally the time
relationship between the current trajectory segments. A line structure in an
RP of length l corresponds to the closeness of the segment f (T1(t)) to another
segment f (T2(t)), where T1(t) and T2(t) are the local time scales (or transfor-
mations of an imaginary absolute time scale t) which preserve that f (T1(t)) ≈
f (T2(t)) for some time t = 1 . . . l. Under some assumptions (e. g. piecewise
existence of an inverse of the transformation T(t)) the local slope m(t) of a line
in an RP represents the local time derivative of the inverse second time scale
T−1

2 (t) applied to the first time scale T2(t)

m(t) = ∂tT−1
2 (T1(t)) . (5)

We will consider here an illustrative example. A further explanation of the
relationship between the slope of the lines and the trajectories is given in the
Subsec. 3.3. Let us consider a function f (T) = T(t) with a section of a mono-
tonical, linear increase Tlin = t and another (hyperbolic) section which fol-
lows Thyp = −

√
r2 − t2 (Fig. 3A). Since the inverse of the hyperbolic section is

T−1
hyp =

√
r2 − t2, the derivative

m = ∂tT−1
lin

(
Thyp(t)

)
=

t√
r2 − t2

(6)

corresponds to the derivative of a circle line with a radius r, a bowed line struc-
ture with the form of a circle occurs in the RP (Fig. 3C).

page 116, paragraph and equation (22)

. . . In this special case the slope m of the main line in the corresponding cross
recurrence plot represents the frequency ratio, and the distance between the
origin of the axes and the intersection of the LOS with the ordinate reveals the
phase difference. Considering the time transformation functions T1 =ϕ · t +α
and T2 = ψ · t +β whithin the (Eqs. 19) and the inverse T−1

2 = t−β
ψ

, we get the
same result for the slope of the LOS by using the derivative (cf. Eq. 5)

m = ∂tT−1
2 (T2(t)) =

ϕ

ψ
. (22)




